goooogz2o0600000

Q29b ASCAODOOOOoOobobbooobboooobob3ubnbobo XxXooo
ogogo
o000 (D0DO0ODOUOO0DOOO0DOO0DOD)OJorge A. Combi(Universidad de Jaen)

ASCADODODDODOOODOOOOD XOOO0OOOO0O0OO0O0O00O0000000000 30000000000
ASCAOODOOOODODOUOOOOOOODOODOODOUOOOOOOOooOoooQ

AX J1635.9—-471900000 (1,b)=(330°.17, 0°.06) 0 0 0 flux=12x 1072 ergsem 21 000 XODO OO
00000000000 ng~10¥em200000000000000000000000X0O00000OO
J0000XO0O0000000000000000000000000000000oooooooooonooo
0000000000000 0000000000000000000X0000000000o0oooooo
0ooO0ooooo

AX J1654.3—4337 0 AX J1654.4-4333 00000 (1,b))=(342°.0, 0°.0) 000 4 000000000000
OfluxO 1002 ergsem™? s ' 000000 XO0OOODODOOOO0O0OOXO0O0O0OOO0OO0O0OO0O0O0O00O0O0OO
000000000000 O0em 2000000000200 X00000000000000000000O0
0000000000000200X00000000000000000000X000000000000
0000000000000 000000000000000000000000000000000000OQ
00000000000XOO0O000000000000000000000000000o0oonoooooon
oooooooo



